SA:

HH: AP AU (22 /2E)
Rl HMAIFQ 22EM 8 (etel:
SN - BB O(3) - HEAY - HES Ofl &+l N3 Husz
SZ0HHE ot 17,793,238 17,067,738 725,500
= 220,000 0 220,000
X 472,000 472,000 0
Il 5,828,000 5,828,000 0
S 11,273,238 10,767,738 505,500
LT AFLsH(Sst2E/2E) 672,500 617,000 55,500
X 100,000 100,000 0
] 63,000 63,000 0
S 509,500 454,000 55,500
HAFC 2ABFM 8 672,500 617,000 55,500
X 100,000 100,000 0
Il 63,000 63,000 0
S 509,500 454,000 55,500
230 NHEAS s SELS 250,500 215,000 35,500
202 04 Hl 155,500 120,000 35,500
03 =2AH20HI 125,500 90,000 35,500
Odhel E2 - 0HHE & SHYR E2 125,500 90,000 35,500
ZA2ZIUZ 20,000 0 20,000
307 212+01 & 20,000 0 20,000
04 QIZFHAIAISE E = 20,000 0 20,000
ox@&&oIUs M= 20,000 0 20,000
ZRES IBEFI (2L 2E/22) 16,084,600 15,614,600 470,000
= 220,000 0 220,000
N 372,000 372,000 0
Il 5,765,000 5,765,000 0
[ 9,727,600 9,477,600 250,000
S 2FH KRIIFH 1,661,000 1,191,000 470,000
= 220,000 0 220,000
=S 1,441,000 1,191,000 250,000
S 2FUF X2 234,000 134,000 100,000
207 2O 100,000 0 100,000
01 A1ESHHI 100,000 0 100,000
OSEHIAZ=EEZX BHEY 24 A2 EH 100,000 0 100,000
NS 49202 SLHAMH(ZD) 300,000 0 300,000
= 150,000 0 150,000
S 150,000 0 150,000
308 XXIEHMIS0I ™ 300,000 0 300,000
= 150,000 0 150,000
S 150,000 0 150,000
10 So12So Ut B A4S HBAH 300,000 0 300,000
OXIY H=o &)= SEMY 300,000 0 300,000
= 150,000 0 150,000
& 150,000 0 150,000
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2A:

X ZH :
S5

ZHZ0HAIE
ZFELE YR (S22 /2E)
X

EHE: Do 22 RIIFA (&t & &)
2A-ZH-HA(SH) - NFAMY - BES Ofl &8 BN Husz
SI22AFTH=x E43H(=21) 70,000 0 70,000

= 70,000 0 70,000

308 AHXIEHMSOIA 70,000 0 70,000
= 70,000 0 70,000

01 AXHHMBAEES 70,000 0 70,000
O&tF il 2ZE 435 70,000 0 70,000

= 70,000 0 70,000

AgstE 2FAIId 4,169,100 4,169,100 0
Il 2,575,000 2,575,000 0

S 1,594,100 1,594,100 0

Hetel= HIOHoIE 106 23 FAEX A (=31) 598,000 2,047,500 21,449,500
Il 460,000 1,575,000 21,115,000

=S 138,000 472,500 A334,500

308 tXIEHSOIA 598,000 747,500 A149,500
Il 460,000 575,000 A115,000

S 138,000 172,500 234,500

01 HXEHBAEES 598,000 747,500 A 149,500
OMEteI= HIOIHE 106 2R JABX 598,000 747,500 A 149,500

Il 460,000 575,000 A115,000

= 138,000 172,500 234,500

403 XISt SX=018 0 1,300,000 21,300,000
) 0 1,000,000 21,000,000

S 0 300,000 A.300,000

01 tXISHMAEEE 0 1,300,000 21,300,000
OUiEtel= EHIOIHE 108 AMY 0 1,300,000 21,300,000

Il 0 1,000,000 £1,000,000

S 0 300,000 £.300,000

CHEtRI= EIOHOIE 104 2R3 XH=22X A (=1) 1,040,000 0 1,040,000
Il 800,000 0 800,000

=S 240,000 0 240,000

403 XXt SX=018 1,040,000 0 1,040,000
Il 800,000 0 800,000

S 240,000 0 240,000

01 A XISMA2EE 1,040,000 0 1,040,000
ONi&tel= HIOIHE 106 2 22X 1,040,000 0 1,040,000

Il 800,000 0 800,000

. =S 240,000 0 240,000

Uistel= HIOHGE 106 SEA FJAEX A (=D) 149,500 0 149,500
Il 115,000 0 115,000

== 34,500 0 34,500

308 AtXIEtHSOIA 149,500 0 149,500
Jl 115,000 0 115,000

S 34,500 0 34,500

01 AXHMBLEES 149,500 0 149,500
ONEel= HOINHE 106 S5 BAEX 149,500 0 149,500
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SA: 2ZOBED
HH: BFEL ISR (2UDZ/2D)
Tl XHESE RBAESY (Etsl: 84
S - Z - S(3) - HBAY - BAS 0l &k o8 plE-L" HlmE2
v 715,000 0 775,000
= 34,500 0 34,500
IOl EIDIOTE 108 S22 UEEX A (2D) 260,000 0 260,000
y] 200,000 0 200,000
= 60,000 0 60,000
403 X SHH S X201 & 260,000 0 260,000
v 200,000 0 200, 000
< 60,000 0 60,000
01 RIXISH =L = 260,000 0 260,000
OUEEI2 HIOIHE 08 27 =X 260,000 0 260,000
J| 200,000 0 200,000
= 60,000 0 60,000
YADBAMASH (YYD IHE /YT 956,600 756,600 200,000
OOl AN SX Y |4 956,600 756,600 200,000
Z01Q A% ATXS5 BZAY SH T2HE(I 150,000 0 150,000
pIEESOED)
308 X+ X| SHHI S 0| 150,000 0 150,000
01 RIXISHHZAEES 150,000 0 150,000
O&HE XI0{121Z WORLD BEACH FESTIVAL S4 150,000 0 150,000
B2 = 0/CI0f E = 50,000 0 50,000
307 212+0| & 50,000 0 50,000
02 QIZHHA AR 50,000 0 50,000
O8t=2 =2 0|00 Z& WA 50,000 0 50,000
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